Chemistry 50                                                                                        Experiment 4

Lab Instructor:





Name:






DATA 

	1. Mass of clean, dry beaker
	

	 Volume of liquid added to beaker
	Mass of beaker and liquid

	2.
	

	3.
	

	4.
	

	5.
	

	6.
	


DATA TABLE FOR GRAPH
	Total volume of liquid in beaker
	Mass of liquid in beaker

	7.


	

	8.


	

	9.


	

	10.


	

	11.


	


Make a graph of mass vs. volume for the liquid on one of the attached pieces of graph paper. Follow the graphing guidelines discussed in the laboratory manual.

Follow-up

1.
Use the graph to predict the mass of 8.0 mL of the liquid you used.

2.
Measure out 8.0 mL of the liquid you used. Using a pre-weighed beaker, determine the actual mass of the 8.0 mL of liquid.

3.
Compare the predicted mass of the liquid to its actual mass, and comment on how close they are.

Questions
1.
An IV pump delivers the following volume of saline solution over five hours.

	Volume (mL)
	Time (hours)

	0
	0

	50
	1.0

	75
	1.5

	100
	2.0

	150
	3.0

	175
	3.5

	200
	4.0

	250
	5.0



Prepare a graph to represent the above data. Follow the graphing guidelines.

2.
Use the graph that you prepared in question #1 to answer the following questions. Show your reasoning.


a.
What volume of solution has been delivered after 1.2 hours?


b.
How long will it take to deliver 130 mL of the IV solution?


c.
What volume of solution will be delivered in 2.7 hours?


d.
How much time will it take for 183 mL of solution to be delivered?

3.
From the graph that you made in the experiment (the mass vs. volume graph), calculate the slope of the line. The slope is equal to the “rise” divided by the “run” – in other words, the change in the y value divided by the change in the x value. This can be determined by choosing two points that are actually on the straight line that you drew (they don’t have to be actual data points), determining their coordinates [(x1, y1) and (x2, y2)], and using the equation:

[image: image1.wmf]

The slope should have units and a sign (+ or -), so make sure to include the units in the x and y values. In this case, the slope of the line is equal to the density of the liquid, if you have drawn the graph correctly. 

� EMBED Equation.3  ���
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